JHHA K=ok

66.7%
0%
33.3%
2EO|CE
L] 0.5 1 1.5 2
A} x| £
66.7%
0%
33.3%
HEO|C
0 0.5 1 1.5 2
A% W@, X2)0f B}
66.7%

33.3%

0%




0 0.5 1 15 2 25
st&0l =20| ot
QHEgict 2 66.7%
Bz s} sgo|ct 0 0%
sE5si0t 1 333%
SEo|r
=4
0 0.5 1 15 2 25
2 Zzo) 3017} At
- oHEsict 2 66.7%
= HEQ|C} 1 33.3%
gxsio} 0 0%
=soc: |
=4
0 0.5 1 15 2 25
4 4¢3 2 FHdshunt
QHEgict 2 66.7%
wEo|C} 1 333%

e 0 0%




0 0.5 1 15 2 25
2. QAR ZA R R (SHY)
M x| =stMt
7 QHSoint 2 667%
SESCE BEoO|C} 1 33.3%
B4} 0 0%
0 0.5 1 15 2 25
XESHA x| =3t
- orEsirt 2 66.7%
HESICE BEo|C} 1 33.3%
] BExsit 0 0%
=4
0 0.5 1 15 2 25
A= YA, =)o 2HZEoict.
QEEoict 2 667%

HsolC} 1 333%



=

0%

=]
5]

(= a I‘!.

oLz BiCh 66.7%
Hsolct 33.3%
2=} 0%
oHEsich 66.7%
Hso|c} 33.3%
e 0%
oHEsict 66.7%
=sojct 33.3%
B4} 0%




=g

HE0|C}

25

15

0.5

of
ol

OH

Ol A 7Hd ]

st diag

uay

1.

2. watSsta WALolN J|ME

5




